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Check the question paper for fairness of printing. Tf there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw

diagrams.

Cgoawnan QLFS ULLD auanhs), sUNHSDET ET(pS@|LD.

Draw diagrams and write equations wherever necessary.

(i)
(ii)

()
i

u@sl - 1/ PART - 1

Simengal eilands@@n ailen weflldse . 15x1=15

Qsr@asiufarar wrin delsaiad Wasab goymw ailenemug,
CsipRsPsss GRS G deLlomaub Csibs Tpsewb.
Answer all the questions,

Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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1.

saflo aflos ol Lamar@d, 15-b Qgrgd 3-0 afllosdeo 2. 6Tam G
SatlwsAar erevsL e <BIEOLOLIL

(1) 15?257 2p6 352 3p2 (<) 182 252 2p*

(8) 1s?2s22p®3s2 3p° () 1s?2s?2p®

An element belongs to group-15 and 3™ period of the periodic table. Its electronic
configuration would be :

(a) 1s?2s5?2p% 352 3p2 (b)) 1s22s?2p*

{c] 1s22s22pb3s? 3p3 (d) 1s22s22p3

urEensni g el @anwL]

(<) Al,OynH,0 (<) Fe,0,2H,0

(8) ALO, (m) @eova argieyfldena
Bauxite has the composition :

(c) AlD4 (d) None of the above

R(M P53 auens eflaanureng 60 Al mselle 75% flanpey Gunding. =Cs ellanar,
2G5 Fupgeamansaficy 50% Hlapay cupg Caereuwimran Sraib :

(<21) 35 Bl user (<) 20 FlOL_ruser

(@) 75 Bl riser () 30 Bl risdr

If 75% of a first order reaction was completed in 60 min, 50% of the same reaction
under the same conditions would be completed in ;

(a) 35 minutes (b) 20 minutes

{c) 75 minutes (d) 30 minutes
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Gdtarm @i e ol ke eflenanm arpenfl el Gom G pem B emedl s QR

wompmydmg 7
(o) InHg/NaOH {e9),) Zn/NHLC

(&) Sn/lcl (1) @enal oenarsgnh

Which of the following reagent can be used to convert nitrobenzene o aniline ?

(a)  Tnlg/NaOH (L) Zn/NiLCl

(¢l Sn/HCI {d) Al of these

HO - CH,-CH,-OH -g QuisiCurgs sfessda danuliu@iso Gurgl

(=) Sgsemdlé sidleih

() co,

(/) Elepemur&sme

HO-CH,—CH,-0H on heating with periodic acid gives :
(a) Methanal

(b) Methanoic acid

fc) €O,

(d) Glyoxal

e Cars swaf ler sl gCGarpp eram whw ndldeaert Qudblmssnd

Sjenemrels Camow

{(24) K4[Fe(CN)g) (<24) [Fe(CN)5(NHg),)

(&) [Fe(CO)g) () (<) wpgd (@) GranBio
A complex in which the oxidation number of the metal is zero is :
{a)  K4[Fe(CN)g] (b)  [Fe(CN)3(NHg);]

(c) [Fe(CO)g) (d) Both (b) and (c]

[ Hmoys [ Tarn aver
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7. Gaeumeeainmer erg Aaerfl-Ciprersut flanmsa)i, SNTOIrgEaD Qe
PRI ?
(1) HPOZ" (<) HCL (@) Br- () S04
Which of the following can act as Lowry-Bronsted acid as well ag base ?

2_
(a) HpPOZ- (b)  HCI (c) Br- (d) SOz

8. Gumrréadan fis EEOJEQTENT)
(1) &17d gemanin 2anL g
(<) BOF oS seteno 2 el iug
(8) riludys seremio 2 LILg
(7) sfles sereio 2. ani g
An aqueous solution of borax is -
(a) basic
(b) mneutral
(c) amphoteric
(d) acidic

9. Qeraipeuarepmer orgy REU bsmen ellanenCGeus LIDpSENE aRssissTL{ 2
(=) eratmGlenruden @l reGammib
(=) Gamui @panpudéd Guomesilir swnfliea
(@) Bigs HCl gpeanaflananifed &&Grrélen brmvu@ssed
() Qsrh wemu9a siss ol surflése
Which one of the following is an example for homogeneous catalysis ?
(a) Hydrogenation of oil
(b) Manufacture of ammonia by Haber's process

(¢) Hydrolysis of sucrose in presence of diLHCl

(d)  Manufacture of sulphuric acid by Contact process
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o Ry o Yo iy ) . i s s
10. =l Guraldlmba swGamanani.far o mer@b eilanar WenelmeuaneDmeT o 50

11.

12.

FTENINS D_@1ang) P

() sl grear dauf oy eblaen

(<) snaut UESLEH Nenar

(@)

smaeut Ganiy aflenen

() croglymar saut LA [ Beven

The formation of cvanohydrin from acetone is an example of :

electrophilic addition
nucleophilic substitution
nucleophilic addition

electrophilic substitution

Qémaumid &Rt flawsasdr, erpgami@saflar durgeara 24 5ANCeanm

Hlenay wrgl ?

(<31) +5 (=) +4 (@) +3 (F) +2

Which of the following oxidation states is most common among the lanthanoids ?

(a)

+5 (by +4 (c) +3 (d) +2

SaumrGL wrdlell eran euenfLmSEILHEDE.

(=) gm Curéd Aurceer al@elss ComauluBn Wagn Lib

(e2) 1 eradlpmanmd swpg @sdaiu@n g b

(@) 6.22 1010 ravél greme sohg AsdalLED W@t

() 1 Guotd eraslymanrd swhs tedeorii@n Wlenggr b

Faraday constant is defined as :

(a
(b}
c)
(d)

Charge required to deposit one mole of substance

Charge carried by 1 electron
Charge carried by 6.22% 1010 electrons

Charge carried by one mole of ¢lectrons

[ Hmoys / Turn over
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13.

14,

15,

ddraumid ol Geann pfleomisailed arg Sieniouen g ?
(<) UCrrallen (<) <ol an (@) flenarden
Which of the following amino acids are achiral ?

(a)  Proline (b)  Alanine (c) Glycine

2 Cara @epwerar GODUT(H sremiLRD LigsD -
(1) Zno (<) NaCl (@) Kc1

The crystal with a meta] deficiency defect is :

(a) ZnO b) NaCl (c) KCl

el sraug) eaams Gapiold ?

(=1) aumyedléd Firob (<) eurwyellsh deimiotn

(8) Birwsdd eumyy () eumadler aumy
Fog is colloidal solution of :

(a) liquid in gas (b} solid in gas

(¢} gas in liquid (d) gas in gas

() bl dlem

(d)

Leucine

(F;'-;I FeQ

(d)

FeO
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Ll - T/ PART - 11
@Iﬂl:ll_] : aGggnnd SHDE otandmensom olen nediAmapn, el aree 24 - (5
&L MUt atean o s{\‘lﬂai\.m.wi\_ 6x2-12

Note 1 Answer any six questions, Question No. 24 iy compulsory.

16. st wipd gng o ducihihdan Guiorer Caimunfasr wraa ?

What are the differences hetween mincrals and ores ?

= T3t mmid Fed' -d : e
17. Fe?® wpmd Feo' -@ ergy) @dls flenaliys sanesn o e wy ? oar ?

Which is more stable Fe?~ or Fe2* 2 Why ?

18. ST TET — EUENTWNIESGLD.

Define Coordination number,

19. sstileamiiyl LgsRSHT ~ eusnruySseyLh.

Define covalent solids.

20. (p5@ auens lEeTEFTET oT(( % HEM ([HEMET 6T(LHHIS.

Give examples for the first order reaction.

21, el ws Qerarasulsy cupbygar wiramea ?

What are the limitations of Arrhenius concept ?

22. Warapenaid salrEd — @l auengs.
St

Write a note on Electrophoresis.

[ §miys / Tum over
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23. WWPAC Quwflamend @M@,

Cly—OH
Cli,
|

(=) C”_ﬁ.~$ - on (<a,)
CHy

Give the IUPAC fames :
CH,— OH
CH,4
fa) CH;-C - oH (b)

CHj4

24. Seraumb efloamaufmsia e car A lenmid B Griotismer s,

CH_;—Br—-—NﬁJ——)A—-—I‘%-—)B—PNQ

Identify A and B in the following sequence of reactions.

CHy ~Br —fh, 4 _UAK, g

U@ - I / PART - 111

GoluY : gCs ey b M elerrisEns s e wafléseyd. eflamr e 33-&@5
&L_L_muiorg eflent_wafléseyid. 6x3=18

Note :  Answer any six questions. Question No. 33 is compulsory.

25. anreypafie s Ceioiiser GTGHIDIE) GTeten 7 THHHESTD Sms.

What are interhalogen compounds ? Give examples,



26,

28.

30.

31.

32.

33.

(4]

9

AT " o 2 i .
AR Al Ceaf et et 1 1&:3T Wittenai 7

What are ; ™ .
tare the properties of interstitial cotmpounds ?

afateiua sine . C o G : ;
ATAN@TLIE swndtunig e o gpdl oidld G b Cluppiarerapenn eflanéEs.

Write Artheni ; ,
rite Arrhenius equation and explain the terms involved.

s et s SR 5 )
Bl uEails &L gsgdmener urrg,]a;@m ErrenilEer wrenal ?

“fnat are Gy .
What are the factors that affects electrolytic conductance ?

o o a . B : i e .
eruUsssTar olaaGas LD e dera ? TRSHESTLH SES.

What is homuogeneous catalysis ? Give cxample.

oL gl mai surfa@n gCeamb @b (PmDPILI CTPFIS.

Write any one method of preparation for dicthyl ether.

CanGarSurih eflmaienwu &(pges.

Write Haloform reaction.

arloigeT eremmTed ersiiar ? TREHEETE HHE.

What are Epimers ? Give cxample.

[Ag(NH,),]* -6 madl, enow o Garrs el whmb IUPAC Guwsor arpgis.

Write the following for the complex [Ag(NH;),]™.

(@) Ligand (b) Central metal ion (c) [UPAC name

5922
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u@S) - IV / PART - IV
@&y : NPMBS elanndmenimin @lent wafldsaib. 5x5=25

Note : Answer all the questions.

34 (@) () yed mity m ~ @il aenns,

() flésenas sriewunis’ LweL@n wrer apeppaper flerd@s.

EV60F)

%) (1) s Qe edanomay eanmrd ereen 7

i) Curflz Siflagdlen Lwenser wreva ?
(2} (i) Write a note on gravity separation method.

(ii) Explain the Mond’s Process of refining nickel.
OR

(b) (i) What is inert pair effect ?

(ii) What are the uses of boric acid ?

35. (&) () ysadgallen Lweaser wrame ?
(ii) Fwenauggnar srauauny swrflésiu@ang ?
HVEVG]
(<21,) Geutent Glandtansllen Carlunhsmars empys.
(a) (i) What are the uses of oxygen ?
(ii) How will you prepare bleaching powder ?
OR

(b) Write the postulates of Werner’s Theory.



36.

37.

38.

11

(=) U s Hemwiismar Ly angannmm dlernnmimetlsilim b CeumuMbas.

SIORG|
(=) ) pH - cwenumasab,
(i) Qurg owel camearamay @@ TOEGEETLHLET ellons@s.
(a]  Differentiate crystalline solids and amorphous solids.

OR
() (i) Define pH.

(i) Explain common ion cffect with example.

(1) Cpramav’. swamurl e § srpelsaab.
36060

(24,) elenanGous wrmflufer ApnTwdyseT wrae 7

{a) Derive an expression for Nernst eguation.

OR

(b} What are the characteristics of catalyst ?

(1) Sumidlé odagdda @RsE0h uandmar ahdgssn HLer elabEs.

TNV
(=) Doy aeays.
(i) srrenueSar ellenan
(i) srofweé sralann( @g,rr@l.hq
(a) Explain the reducing action of formic acid with example.
OR

(b} Write a note on !
(ij Carbylamine reaction

(if) Gabriel phthalimide synthesis

-00o0-
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